00000T1T2) 2013/04/223 000000 oooooooooooooo = 0000

od oooo

0 1. 0OO00O0OO0ODOOUOOOOOOO0OOO0O0ODOO LOOOO0OOO0OO0OOOUODOoOUODOOoO

000000 mO0O0O0000 g00000oooooooo oooon

1.0000000000(0000M0O0000000000 @

2.00000000000NOO0O0OO

3.0000000000000000

4.0000000sind~0000000000000 0000000000 ¢t=00
000060=6,,06=00000

od

1. 000000 LA000000000000000on 4. 0 (40000 siné~60000000

goooobooooboooboooobuooooboo . g
=L -mL0 =mL*@ (1)

cooooooo

0 = Acos (\/EH(S) 6)

000*000¢t=00000060=6,0=00000
O00A=6,,6=00000000000000

Lo

t (7)

2. 000000000000000000000TO 0 = 0o cos

gooobooobooooooo mgOooooooboobo
0o0oo0oooooooooooooooOOO0Obon
oooooooooOooooeODODOOOOOODO
goobobobooooomobobooo

N = —L -mgsinf (2) 9 — Clei\/%t + 026—1‘\/% (8)

=

00 0O ()000000
f=eM00000N= ﬂJLDDDDDDDDD

000*00000000 9 = cosf +isind 000

oood
0 = Acos 4/ t—&—Bsm\/7 (9)

A=C1+Cy, B=1i Cl (10)

000000000 DO0ODOODODOODOODOODOO
A BOOOOOODOOOOODOOOOOOOO

3. i=NDDO (1), (2)000000

. _ g
mL*0 = —mLgsin @ (3) 6 = A’ cos <\/Zt + 5) (11)
000000 mI20000000000000000 A= AT B, mﬂ<Jz+é):i (12)
. 2 . o
9+L51n9—0 (4) Q0on

*Lgogoo
*2C,Co00000000000000000O0



ooo

oooooooooooooooooooo0o0ooooooooo 3ooooooooooooooooooooon
000000000000000000000000000000D00D00 400 123400££t00000000
gbobooooooogn

http://basewall.kuciv.kyoto-u.ac.jp/mech/1234fft/

000000000000 0000000000000M 000000000000 00000000000000
gbobooooooooo



